
Übungen zu rationalen Zahlen

1.)
Beispiel:
 59   wird gerechnet wie  59=14

Übung: 

2.)
Beispiel:
 8– 6    oder 8– 6  wird gerechnet wie  8– 6=2
–8–5  oder –8– 5  wird gerechnet wie −8–5=−13

Übung: 

3.)
Beispiel:
 8– −6    wird gerechnet wie  86=14
–8−–5  wird gerechnet wie –85=−3

Übung: 
 

37=
4 18=
1825=
2598=
327826=

3.94=
718.8=
18.625.7 =
25.398.9 =
32.582.7=
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7−4=
−4 −18=
18−25=
98−25=
−37−26=

3.9−4=
7−18.8=
−18.6−25.7 =
−25.3−98.9 =
99.9−87.6=
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Regel:
 −–  wird zu 

Regel: 
 wird zu 

Regel:
 –  oder –   

wird zu –


